WERR | REota
AR | FH=E
Eﬁ: T e (=1 4 —_— [re)
- AT ABREAR KB “RefesH
a=H =8 (CO2)
' - TR meg | PRNR e mem [kg/]
OmFERESE| (F/F] o %] [F/]
[MJ/2]
am2(200) | 153,516 | 7,306 37| 100,652 | 52,865 393
V=3—YRAT LA
LPG 6m2(300L) | 153,516 | 11,106 57| 70,998 | 82,518 636
ABmEkSE | 3m*2000) | 153,516 | 6,359 32| 103,706 | 49,810 410
am?(200L) | 86,842 | 7,306 37| 58832 28,010 335
V—=35—YRATLA
an  |@mAR 6m2(300L) | 86,842 | 11,106 57| 42,108 | 44,734 542
AWB#iEkSE | 3m*(2000) | 86,842 | 6,359 32| 58665 | 28,177 350
4m?(200L) 73,473 7,306 37 50,447 | 23,026 467
Y—S5—YRFLh
T3 6m2(300L) | 73,473 | 11,106 57| 36,315| 37,157 754
ABmEKSE | 3m*200) | 73.473| 6,359 32| 49,634 23,839 485
am?(200L) | 136,460 | 7,125 41| 84,986 | 51,474 381
V—=35—YRTLA
LPG 6m?(300L) | 136,460 | 10,677 61 57,231 | 79,229 609
AWB#EKSE | 3m*(2000) | 136,460 | 6,202 36| 87877 | 48,583 400
am2(2000) | 77194 | 7.125 41| 49,959 | 27,235 325
V=3—=YATLA
3N | #@mhz 6m2(300L) | 77,194 | 10,677 61| 34,287 | 42,907 519
AIBmEKSE | 3m*2000) | 77,194 | 6,202 36| 49,711 | 27,483 341
am?(2000) | 65310 | 7,125 41| 42,935 | 22,374 453
V=3—YATLA
AT 6m2(300L) | 65,310 | 10,677 61| 29,686 | 35623 723
AWB#iEkSE | 3m*(2000) | 65310 6,202 36| 42,058 | 23,252 473
am?2000) | 92,113 | 6,244 53| 47,404 | 44,709 327
Y—S5—YRFLh
LPG 6m2(300L) | 92,113 | 8,864 75| 26,731 65,382 499
AWmEkE | 3m*(2000) | 92,113 | 5214 44| 51,273 | 40,840 336
4m?(200L) 52,107 | 6,244 53| 28,642 | 23,466 279
V—=3—YRAT LA
2N | @A 6m2(300L) | 52,107 | 8,864 75| 16,881 35,226 425
AB#EXE | 3m?(200L) 52,107 5,214 44 | 29,004 | 23,103 287
am2(200L) | 44,085 | 6,244 53| 24,879 | 19,206 389
V=3—YRATLA
T3 6m2(300L) | 44,085 | 8,864 75| 14,906 | 29,180 592
AB#EASE | 3m*(2000) | 44,085| 57214 44| 24,539 | 19,546 397




